Appendix B
Coefficients AJ(.i) and !B;i)

The coefficients Aj(.i) and B}i), introduced in equations (11.4.4) and (11.4.5), are
8
rA’(ll)(m,n) = —§mn2A0,0B0,0,
) _ 85
Ay (m,n) = 3" Ag,0Bo,0,
o _8
Ay (m,n) = §on,oBo,0,

4
,Awgz)(m, }’l) = §n (4mnA0,0B0,0Hm + 6ml’lA0,()B()’0Hn — 4m1’lA0’1B(),0
— 3mnA0,()B(),1 — 4m}’lA0,oBo’0W(O)(m +n+ 1)
—4mAg,0Bo,o —2nA0,0Boy).

4
Agz)(m,n) = —§n(4nA0,oB0,0Hm + 6nA0,oBO,0H,,

—4nA0,0Boov @ (m +n+ 1) — 4nAo,1Bo,o
— 37114()5030,1 - 4A0,OBO,O)7

4
Agz)(m,n) = —5(6mA0,oBO’()Hn + 4I71A0,oBo,0Hm
— 4I’I’lA0,OB(),0¢'(0)(m +n+ 1) — 4onﬁlB(),0
—3mAg,0Bo,1 —2A0,0Bo).

A (m.n) = —%(24mn2A0,OBO,OHmH,, — 24mn®Ag.1 Bo.o Hy
— 12mn®Ag,0Bo.1 Hm — 8mn®Ag o Bo,o Huy @ (m 4+ n + 1)
— 18mn®Ag,0Bo.o Hy @ (m +n + 1) — 16mn Ao,0Bo,o Hm
— 12mn Ao, Bo,o Hy — 12n% A9 0 Bo,o Hy + 12mn*A¢ 1 Bo 1
+ 9mn?Ag,0Bna + 5mn?Ag0Boo¥ @ (m +n + 1)
+ 4n%A0,0Bo,o¥ @ (m +n + 1)
+ 5mn®Ag.oBooy P (m +n + 1)
+ 8mn?Ao,1 Bo,oy @ (m +n + 1)
+ 9mn2A0,0B0,11ﬂ(0)(m +n4+1)
+ 16mnAp,1 Bo,0 + 6mnAo,oBo1
+ 12mnAgoBo,ov @ (m +n + 1)
+2mAg,0Bo,o + 6n*Ag0Bo.1 + 8nA40,0Bo,0).
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AP (m,n) = %(24n2A0,OBO,OHmHn —12n2A49,0Bo.1 Hp
— 812 A0,0Bo,o Hny @ (m +n + 1)
— 18n%A9,0Boo Ha @ (m + n + 1)
—16nA0,0Bo.oHm — 24n% Ag,1 Bo,o Hy — 12nA0,0Bo.o Hy
+5n%A0,0Boov @ (m +n + 1)?
+ Snon,oBo’ow(l)(m +n+1)
+ 8n%401Bo oV @ (m 4+ n + 1)
+ 9112140,030,11//(0)("1 +n+1)
+ 12n40,0Bo oy @ (m +n + 1)
+12n%Ag,1 Bo.1 + 9n* Ao 0Bn
+ 16nAg,1Bo,0 + 61 40,0Bo,1 + 2A40,0Bo,o),

AP (m,n) = %(24mAO,OBO,0HmH,, — 24m Ao, BooHy
—8mAo,0BooHny @ (m +n + 1)
— 18mAg0Bo,oHy @ (m +n + 1)
—12mAg0Bo,1 Hpm — 12400 Bo.o Hy + 9mAg0Bn 2
+ Son,OBO,OW(O)(m +n+1)? +4A0,oBo,oW(0) m+n+1)
+ 8mAo,1 Booy @ (m +n + 1) +9mAgoBo1v @ (m +n + 1)
+ 5mAo0BooV P (m +n 4+ 1)+ 12mAg 1 By + 6A40,0B0,1).

AL (m,n) = —g(—18mnon,017lmB,,,2 —2mn2A9,0BooHu @ (m + n + 1)2
— 6mn2A0,0B0,0Hnw(O)(m +n+1)2
—6n2A0,0BooHyy @ (m +n +1)
+ 12mn?Ag,0Bo,o Hm Hy @ (m +n + 1)
— 12mn2A0,lBo,0Hnw(O)(m +n+1)
—6mn?Ag,0Bo 1 Hn @ (m +n + 1)
—2mn2A0,0Bo,oHuy'V(m +n + 1)
—6mn?Ag0Bo,oHy vV (m +n + 1)
+24mnApo0BooHmHy —24mnAo,1 Bo,oHy
— 12mnAg,0Bo.1 Hm — 8mnAgoBo.oHpn @ (m +n + 1)
— 12mnAo0BooHn @ (m 4+ n + 1) — 4m Ao 0Bo.oHm
—12nA9,0Bo.o Hy + 18mn* Ao 1 By 2
+mn?A0,0Boov @ (m +n + 1)
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+ nZA(),()B(),()w(O)(m +n+1)?

+ 2mn®Ao,1 Bo,o¥ @ (m + n + 1)2

+ 3mn?A0,0Bo ¥ @ (m + n + 1)
+3mn2A0,0Booy PV(m +n + )Y Qm +n + 1)
+3n%Ao,0Bo1 v P (m +n + 1)

+ 6mn2A0,1BO,11//(0)(m +n+1)

+ 9mn2A0,0Bn,2w(0)(m +n+1)

+ non,oBo,olﬁ(l)(m +n+1)

+mn? Ao, Boo¥ P (m +n + 1)
+2mn*Ao,1 Booy ™ (m + n + 1)
+3mn?Ag0Bo ¥V (m +n + 1) + 12mn Ao, Bo,y
+4mnAooBo,o¥v @ (m +n + 1)
+2mAo,0Boo¥ @ (m +n + 1)
+4ndooBooy @ (m +n+1)

+ 8mn Ao, Booy @ (m +n + 1)
+6mnAooBo ¥ @ (m +n + 1)

+ 4mnA0,0B0,0w(1)(m +n+1)

+ 4mAo,1 Bo,o + 9% Ao,0 B2 + 61 Ao,0Bo,1 + 240,0Bo.).

AL (m.n) = g(—lsnon,onBn,z —2n2A9,0BooHn @ (m + n + 1)
—6n2A9,0Bo.o Hy @ (m +n + 1)
+ 12n2Ao,oBo,onHnW(0)(m +n+1)
— 12n2A0,1Bo,0HnW(O)(m +n+1)
— 61 Ao,0Bo,1 Hu ¥ @ (m +n + 1)
—2n2A0,0Bo,o Hn ™V (m +n + 1)
—6n2A0,0BooHyyV(m +n+1)
+24nAo,0BooHmHy, —12nA0,0Bo,1 Hn
— 8n40,0Bo,0 Hnv @ (m +n + 1)
— 12n40,0Bo,o Hy V@ (m +n + 1)
—4A9,0B0,0Hm —24nAo,1Bo,o Hy
+n?A0,0Bo oV @ (m +n +1)°
+ 2112140,1Bo,o‘/f(o)("1 +n+1)2
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+3n%A0,0Bo v D (m + n + 1)
+ 302400800y (m +n + Dy (m +n + 1)
+6n2Ag,1 Bo 1y @ (m +n + 1)
+9n*A0,0Bup¥ @ (m +n + 1)
+ nZAO,OBo,Ow(Z)(m +n+1)+ 2n2A0,lBo,0w(1)(m +n+1)
+3n% Ao, 0Bo ¥y (m +n + 1)
+ 4nA0’oBo,ow(°)(m +n4+1)%+ 2A0,OBO,OW(°)(m +n+1)
+ 8nA0,1B0,0w(0)(m +n+1)+ 6nA0,oBO,1w(°)(m +n4+1)
+ 4n40,0Bo,oy V(m +n 4+ 1)+ 1812491 By
+ 12nA0,1Bo,1 + 4A0,1Bo,0).

AL (m,n) = —g(lson,onBn,z +2mAg,0Bo,o Hnv @ (m + n + 1)?
+ 6mA0,oBo,0HnW(O)(m +n+1)?
— 12mAg,0Bo,o Hm Hy 9 @ (m + 1 4 1)
+640,0Bo,0Hn Y (m +n + 1)
+ 12mAg,1 Bo,o Hyy @ (m +1n 4 1)
+ 6mAgoBo Hun @ (m 4+ n + 1)
+2mAo,0Bo,o Hn ™V (m +n + 1)
+ 6mAg,oBooHyyV(m +n + 1)
— 18m Ao, Bny —mAgoBo o @ (m +n + 1)
— Ao,oBo,ol/f(O)(m +n41)? - 2”11‘10,130,01//(0)(”1 +n+1)?
—3mAo,oBo ¥ @ (m +n+1)°
—3mAgoBooy P (m +n+ DYy@Q@m +n+1)
—340,0Bo1 v @ (m +n + 1) — 6mAg 1 Bo1y @ (m +n + 1)
— 9mAo,0Bu2¥ @ (m +n + 1) — AgoBoo¥ ™ (m +n + 1)
—mAo,0Bo,o¥® (m +n + 1) —2m Ao, Booy ™ (m +n + 1)
~3mAg,0Boa vV (m +n+1)— 9A0,0Bn.2).

2
!Bfl)(m,n) = §nAo,oBo,o(m —n),
0 2
B, (m,n) = —§nAo,oBo,o,

2
Bgl)(m, n) = §A0,030,0,
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1
B8P (m.n) = —m— n)(4n40,0Bo.o Hm + 6149,0BooH,

—4nA0,0Bo,ov @ (m +n 4+ 1) — 4n 40,1 Boo
—3nAo,0Bo,1 —2A40,0Bo,0).

1
i)’éz)(m,n) = 5(4I1AQ,OBO’0Hm + 6I1AQ,OB0,0Hn

1

B_S,Z)(m? I’l) = 9

— 471140,030,0‘/’(0) (m+n+1)—4nAdo1Bo,o
— 3I’IA(),0B0,1 - 2A0,0B0,0)’

(—440,0Bo,0Hm — 6A0,0Bo,0 Hy

+ 440,0B0,0% P (m +n + 1) + 440,1Bo,o + 340,0Bo,1),

1
8% (m.n) = 1—8(—24n2AO,OBO,OHmHn +12n%A40,0Bo.1 Hm

+ Snon,oBo,onw(o)(m +n+1)

+ 1812 A0,0Boo Hy v @ (m +n + 1) + 16nA¢,0Bo.o Hp
+24mnAg,o0BooHmH, —24mnAg,1 Bo,oHy
—12mnAop,0Bo,1 Hm — 6mAg,0Bo,0Hy
—8mnAgoBo,oHm @ (m +n +1)

— 18mnAg,0BooHyy @ (m +n + 1)

— 8mAg,0Bo,oHpm + 24n*Ao.1Bo o Hy

—5n2A40,0Bo,ov @ (m +n + 1)?

—5n%A0,0Boov VP (m +n+1)

—8n% 49,1 Boov @ (m +n+1)

— 9% Ag,0Bo 1V O (m +n+1)

+ 12mnAp,1Bo,1 + 9mnAooBn 2

+5mnAooBo oV @ (m +n + 1)

—8nAo,0Booy @ (m +n + 1)

+ 5mnAgoBooy ™ (m +n + 1)

+ 8mnAg,1 Bo o @ (m +n+1)

+9mnAooBo 1y @ (m +n+ 1)

+ 6mAo,0Bo,ov @ (m +n + 1) + 8mAo.1 Bo,o + 3mAgoBo,
— 12n%Ag,1 Bo,1 — 9n* Ao,0Bn» — 160491 Bo,o + 2A0,0Bo.0).

1
B (m.n) = E(—24nA0,0BO,OHmHn +12n40,0Bo.1 Hp

+ SnAg,oBo,onw(O)(m +n+ 1)
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+ 18nA0,oBo,0HnW(O)(m +n+1)

+ 840,0B0,0Hm + 6A40,0Bo,0H, + 24nAg,1 Bo,o Hy
—5nA0,0Boo¥ @ (m +n + 1) — 649,0Booy @ (m +n + 1)
—8n40,1Bo,o¥ ”(m +n + 1) = 9nAo0Boiy P (m +n + 1)
—5nAgoBoo¥ Y (m 4+ n+1)—12nd01Bo.1 — 9 Ao0Bna
—840,1Bo,0 —340,0B0,1).

B8P (m.n) = %(24A0,OBO,OH,,,H,, —840,0BooHmy @ (m +n + 1)
— 1840,0Bo,o Hy V@ (m 4+ n + 1) — 1249,0Bo,1 Hm
—2440,1Bo,0Hy + 540,0Boo¥ @ (m + n + 1)
+840,1Bo,0¥ @ (m +n + 1)
+940,0Bo,1 9@ (m +n + 1) + 540,0Bo,oy V' (m +n + 1)
+ 940,0Bn2 + 1240,1Bo 1).

1
B8W (m.n) = ﬁ(—nZAO,OBo,Ow(O)(m +n+1)>

+mnAooBooy @ (m +n+1)°
+ 2mA0,oBo,ow(0)(m +n+ 1)2

—3nA0,0Bo,ov @ (m +n +1)?

+ 2n2Hon,oBo,0W(0)(m +n+1)?
—2mnHy, Ao oBo,ov @ (m +n + 1)2
+ 6n*Hy Ao,0Bo,oy @ (m + n + 1)

— 6mnHy Ao,0Boo¥ @ (m +n + 1)
—2n%A0,1Bo,o¥ @ (m + n + 1)
+2mnAo,1 Booy @ (m +n + 1)
—3n%A0,0Bo ¥ @ (m +n + 1)2

+ 3mnAooBo, ¥ @ (m +n + 1)2

— 4mHyp Ao ,0Booy @ (m +n + 1)

+ 8nHpAg o Boov @ (m +n +1)
—6mHy, Ao oBooV @ (m +n+1)

+ 6nH, Ao o0Boov @ (m +n +1)
—12n2Hy Hy Ao,0Bo o @ (m +n + 1)
+ 12mnHy Hy Ao0Bo oW @ (m +n + 1)



Coefficients ,A,;” and 3}(}) 117

=302y (m +n + 1)Ao,0Boo¥ @ (m +1n + 1)
+3mny ™ (m + n + 1) Ag,0Bo,oy @ (m +n + 1)
+4mAo,1Booy @ (m +n + 1) — 8ndo 1 Boo¥y @ (m +n + 1)
+ 12n% Hy Ao,1 Bo,o¥ @ (m +n + 1)

— 12mnHy Ao, Bo oy @ (m 4+ n + 1)

+3mAgoBo ¥ @ (m +n + 1) —3ndo0Bo 1y @(m +n+ 1)
+ 6n2HypyAgoBo v @ (m +n + 1)

— 6mnHpy Ao,0Boa v @ (m +n+ 1)

— 6112140,130,1\//(0)(’71 +n+1)

+ 6mnAo,1 By @ (m +n + 1)

— 912 A9, B2 @ (m +n + 1)

+9mnAooBu oy @ (m+n+1)

+4Hpy Ao,0Bo,o + 12mH,, Hy Ao, Bo,o — 24nHpy Hy Ao 0 Boo
— 6Hy Ao,0Bo,o + 2my ™V (m + n + 1)A0,0Bo,o

—3nyD(m +n + 1)A90Boo

+ 20 Hyu ™ (m + n + 1) A0,0Bo,o

—2mnHpu ™M (m +n + 1)A0,0Boo

+ 6n2H,,w(1)(m +n 4+ 1)Ao,0Bo,0

— 6mnH, ™D (m 4+ n + 1)40,0Bo,o

— 12y P (m +n + 1)Ag,0Bo,o + mny® (m +n + 1)A0,0Bo,o
— 12mHy Ao 1Boo + 24nHy, Ag 1 Bo o

— 202y W (m + n + 1)Ao,1 Bo,o

+ 2mnw(1)(m +n+ 1)A0,1Bo,0

—4A0,1Bo,0 — 6mHy, Ag,0Bo,1

+ 121 Hy Ao,0Bo — 30>y (m +n + 1) Ao 0 Bo 1
+3mny M (m +n + 1)Ao,0Bo,1 + 340,0Bo, + 6mAo1Bo,
—12n 40,1 Bo,1 + 9nA0,0Bu 2 + 180> Hy Ao,0 Bu 2

— 18mnHypAg,0Bnp — 181 Ag1 By p + 18mnAo1 By o).

1
B8P (m.n) = ﬁ(—leo,oBo,onHn + 18nAg.0Hp B o
+2nA0,0BooHm @ (m + n + 1)
+ 6nA0,oBo,oHn1//(0)(m +n+1)?



Coefficients ,A,;” and 3}(}) 118

+ 4A0,oBo,on1ﬂ(O)(m +n+1)
—12nAg,0BooHmHyy @ (m 4+ n + 1)
+ 640,0Bo,oHyy @ (m +n + 1)
+ 120 40,1 Boo Hy @ (m + 1 + 1)
+ 6n40,0Boy Hny @ (m +n + 1)
+ 2nAo,oBo,onw(1)(m +n+1)
+ 6nAo0BooH, VD (m +n+1)
+ 6A40,0Bo,1 Hm + 12401 Bo,oHy
—nAo,0Booy @ (m +n +1)>3
—240,0Boo¥ @ (m +n + 1)> = 2n 40,1 Boo¥ @ (m + n + 1)?
- 3nA0,0B0,11//(0)(m +n+1)?
—3ndooBooV P (m+n+ DYyO@m+n+1)
— 440,1Bo0¥ O (m + 1 + 1) = 340,0Bo y @ (m +n + 1)
—6nd9 1 Bo 1y @ m+n+1)—9nAdgoBuav@m +n+1)
—2A0,0Bo,0v P (m +n+ 1) —nAooBoo¥ P (m +n +1)
—2nd01Booy P (m+n+1)=3n40,0Bo1 v PV(m +n+1)
— 18n40,1Bn.2 — 640,1Bo,1),

B (m.n) = %(—18Ao,onBn,2 —240,0Boo Hn @ (m 4+ n +1)2
— 6A40,0Bo,0 Hy V@ (m + n + 1)?
+ 1240,0Bo.o Hn Hy @ (m +n + 1)
— 1240,1Boo Ha @ (m + 1 + 1)
—640,0B0,1 Hn @ (m +n + 1)
—2A40.0Bo,oHnv P (m +n + 1)
—640,0Bo,o Hay™(m + 1 + 1) + Ao ,0Booy @ (m +n + 1)°
+2A40,1Bo.o¥ @ (m + 1 + 1)? + 340,0Bo,1 ¥ @ (m + n + 1)?
+340,0Boov P +n+DyQ@m+n+1)
+ 6401 Bo1 v O (m4n+1)
+940,0Bu 2@ (m +n + 1) + Ao 0Boov P (m +n + 1)
+ 2401 BooV VP (m +n+ 1) +340,0Bo1 vy V(m +n + 1)
+ 1840,1B52).



